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<H 2> FEH A EZolM =2 o|FF 7H HA (S EHX 5)
(1) 0§ (3) AEX| (4) T9
N (2) Dt Total
JCt STt JHX| 4t
@© ZxI5tE 4 10 3 5 22
@ 4 26 9 1 40
® 15 131 47 5 198
@ 22 178 52 3 255
® 23 215 74 7 319
® 16 140 46 7 209
@ 11 80 18 3 112
4 24 12 1 41
® 0 3 0 1 4
SRS 0 0 0 0 0
Total 99 807 261 33 1,200
OFX|2tO 2 M|CH/ g ot S& B4 70| BHA & <E 3>t ZE LTt
<H 3> NCH/dEat £ of gk ZF #A(SEXL 5, 2= oF HME|X])
Q) ) 3) 4) Total
Of< 2 Ct ot JFX| ct | M3 A=HX| 4t
35 173 90 15 313
20-34 A
(11.18) (55.27) (28.75) (4.79) (100.00)
29 183 65 10 287
20-34 o{ o
(10.10) (63.76) (22.65) (3.48) (100.00)
22 226 52 4 304
50 O &
(7.24) (74.34) (17.11) (1.35) (100.00)
13 225 54 4 296
50 CH Of 8
(4.39) (76.01) (18.24) (1.35) (100.00)
99 807 261 33 1,200
Total
(8.25) (67.25) (21.75) (2.75) (100.00)
<H 3PS EHMHHEOZ 20-34 M| SEXIS0| 50 Cf S EALO| H|sH =& 2|80 s X0l €S B0
St 48 & = QUELICEH 20-34 9| AL I H|E0|28.75%(1HX| QLCH E35H7| 4.79%(T S D HX| LCt),
20-34 0§ 49| AL 22.65%(1HX| LLCH) E5t7| 3.48%(TS5 2 HX| QLCHO|7| 120, 20-34 80| AL SX|




UAACH=E ofeh2 sl H|- 20| 2k 34% 7+ |11, 20-34 0] 42| ZL0|&= O H[E0| U 26% Y= EL|CL stE
50 O S EXtOl 42, O H| 20| EH 2235t 20%7F X | X| & LCE.

.EM LMY 2R

TEHSTH 4 B Mool SH HFO| =AM 7 A7 2O =A™ 2 (ordered logit) = X-85tH= 20|
MAESICHD EHEHSH 210 A2l M-S0t @0 BMMSLICH SR Q TN A ZE QA 0] BLH0
F £ GEO0| MCH/MHE ZICHo| et CHEXIE 27| I8l MitH/ g8 R Chap S 218 7 IXte = B0
ZSHA|ZIELICH AT SO 25 Lo

o7 B A2l HolZ 98] B4 el

MAYSLICH |2 «1) 01 O™CE (2) AL (3)

BMUs
OYX| G (4) T DZX| @2 [ U H=gtS (1) T AZX| QT (2) A-X| BCh (3) AL

(4) 02 DZ O 2 B AS LIC.

. ologit revQ47 1 ib(0) .gendi##c.sss_m, nolog

Ordered logistic regression Number of obs = 1,200

LR chi2(7) = 24.90

Prob > chi2 = 0.0008

Log likelihood = -1071.4906 Pseudo R2 = 0.0115

revQ47 1 Coef. Std. Err. z P>|z]| [95% Conf. Intervall]
gen4

20340 ¢ .2354811 .1753572 1.34 0.179 -.1082127 .5791749

500 & .4642374 .171574 2.71 0.007 .1279586 .8005162

5001 of ¢ .30196 .1705872 1.77 0.077 -.0323848 .6363049

5s5_m -.2470625 .080378 -3.07 0.002 -.4046005 -.0895244

gend#c.sss_m

20349 .3267762 .1208139 2.70 0.007 .0899854 .5635671
50cH & & .394108 .1101871 3.58 0.000 .1781452 .6100708
5001 of o .3468803 .1156548 3.00 0.003 .120201 .5735595
/cutl -3.377097 .2024822 -3.773955 -2.980239
/cut2 -.9068801 .123326 -1.148595 -.6651657
/cut3 2.685597 .1528342 2.386047 2.985147

PR A S O\M B (ss9) = BRE Y SHUSLICE gens O] IS SH4A 2.0 BIRILICL BREYS O RE



MICH/ 8 7t 42288 0| 3| A =5 2 H(‘gendtic.sss_m') 25 Y (+)2 ¢S #1, F2+=F 0.01 50| A
SAHLZ 7olofet Znt LTt 0| A2 20-34 H8 HEru B sl = I, CHE MO/ E 8 HESAHAME
FEH S LA 0| ZOHE +5 HE S =71 B E0 &S 0L (F, 71 852 2034
HEHAME FEHY AS A =2 A7, CHE MH/ 88 BEOAE [ S4idts [+1840]
L Settt= O|OF7| Y LICE O [+]440| BFZ CHE MTH/ 4 8 B =2 AT Q4 7t d= X480 2E
ol A2l F2YLICL) Ol 5 S8l 20-34 =2 32 FEH A S 240 0tE+F H2 AL
HHY =SE0 205 A0[EOldS &+ ASH T

o

= SNBSS 12{d) 20t A B X| RELICH nF+F(DE 0|8} CiAY 04, HFX|
Ef(D| =, i Xt S, AtE, 0| =), &7t A 5(0~300 2H O] 300 THel~600 2HA O] 600 T+ &

), 2XH4 Ml 7 #&=XHAh5000 BHA O] 2H 5000 PHI~3 & & 0|2t 39 @) 5SS 12{$t Zat7t of2fof
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ologit revQ47_1 ib(0) .gend##ic.sss m i.marital i.educ_d i.region i.inc3 i.wealth, nolog

Ordered logistic regression Number of obs = 1,200

LR chi2(31) = 48.13

Prob > chi2 = 0.0256

Log likelihood = -1059.8757 Pseudo R2 - 0.0222

revQ47 1 Coef. Std. Err. z P>|z]| [95% Conf. Intervall]
gend

20340 .2260613 .1805779 1.25 0.211 -.1278648 .5799874

50cH & o .5134672 .2327365 2.21 0.027 .0573122 .9696223

500 of .2885793 .2433126 1.19 0.236 -.1883046 .7654633

55S5_m -.2541502 .0832859 -3.05 0.002 -.4173876 -.0909127

gend#c.sss_m

20340 o .3485979 .1230261 2.83 0.005 .1074711 .5897246
500 & & .4521571 .1133638 3.99 0.000 .2299682 .674346
5004 of & .4154633 .1184994 3.51 0.000 .1832087 .6477179

(SH#47} KOl SHEE 42— ROI3H B4 g1 8)

I R0l 2 HiQE 20| =M™ EX At= S A5 | Of tCHE S LICH O2iM o] 20t E
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logit help ib(0) .gend##ic.sss_m, nolog

Logistic regression Number of obs = 1,200
LR chi2(7) = 38.33
Prob > chi2 0.0000
Log likelihood = -648.9635 Pseudo R2 = 0.0287
help Coef. std. Err. z P>|z]| [95% Conf. Interval]
gend
20340 o .3211817 .1833136 1.75 0.080 -.0381063 .6804697
500 & .8315754 .1989873 4.18 0.000 .4415674 1.221583
50t of o .6851225 .191859 3.57 0.000 .3090858 1.061159
555_m -.1906103 .08074 -2.36 0.018 -.3488577 -.0323629
gend#c.sss_m
20340 o .2350591 .1246786 1.89 0.059 -.0093066 .4794247
500 & .4301141 .1239398 3.47 0.001 .1871966 .6730316
5001 o o .3265062 .1293477 2.52 0.012 .0729893 .5800231
_cons .7260482 .1231373 5.90 0.000 .4847035 .9673928
ol =M 23 2 MM Zot SHEH+SS 21 0[d 2H 242 MA A5t EH 1 207 Ch=at
5L

. logit help ib(0) .gend##c.sss m i.marital i.educ _d i.region i.inc3

i.wealth, nolog

Logistic regression Number of obs = 1,200
LR chi2(31) N 54.75
Prob > chi2 = 0.0053
Log likelihood = -640.75465 Pseudo R2 = 0.0410
help Coef. std. Err. z P>|z]| [95% Conf. Intervall
gené
20349 4 .3367746 .1899187 1.77 0.076 -.0354592 .7090083
500 & 4 .9153467 .2645324 3.46 0.001 .3968727 1.433821
50ch of o .7420944 .2722212 2.73 0.006 .2085508 1.275638
555_m .1956711 .0848887 -2.31 0.021 -.36205 -.0292922
gend#c.sss_m
20340 4 .2279556 «I27 7721 1.78 0.074 -.0224711 .4783824
50ch & & .4736766 .1288325 3.68 0.000 .2211695 .7261837
5001 of 4 .3725113 .1326492 2.81 0.005 .1125235 .632499
(SH E47h 20| = BhTH M2 - Qo3 i 918)
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